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FRACTION ,DECIMALS AND RATIONAL
NUMBERS

1

— in different ways using

1. Represent —,
P 4

4

different figures. Justify your representation.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_oBpDPozW9QcT

° Watch Video Solution

2. Write five examples, each of proper,

improper and mixed fractions.

o Watch Video Solution

3. Write five equivalent fractions for 5

o Watch Video Solution



https://dl.doubtnut.com/l/_oBpDPozW9QcT
https://dl.doubtnut.com/l/_eJhELZNBmv8H
https://dl.doubtnut.com/l/_9InKLbXhYhoT

4. Write five equivalent fractions for r

o Watch Video Solution

5 3
5. Which is bigger g o E?

o Watch Video Solution

6. Determine if the pairs are equal by writing

3
each in their simplest form: — and 37

8 1000

o Watch Video Solution



https://dl.doubtnut.com/l/_Nsy3X8dUQMCT
https://dl.doubtnut.com/l/_eWfeih7GbFF4
https://dl.doubtnut.com/l/_v5fJE6V0FBqa

7. Determine if the pairs are equal by writing

: . 18 23
each in their simplest form: — and —
54 69

o Watch Video Solution

8. Determine if the pairs are equal by writing

: . 6 600
each in their simplest form: — and ——
10 1000

° Watch Video Solution



https://dl.doubtnut.com/l/_v5fJE6V0FBqa
https://dl.doubtnut.com/l/_NwY4O3kmOqXB
https://dl.doubtnut.com/l/_ncs0TEV7GMUJ

9. Determine if the pairs are equal by writing

: . 17 25
each in their simplest form: — and —
27 45

o Watch Video Solution

10. Compute and express the result as a mixed

3
fraction :2 + 1

o Watch Video Solution



https://dl.doubtnut.com/l/_w7bH3Q2iUljI
https://dl.doubtnut.com/l/_fCKJwRPJ2OXV

11. Compute the following and express the

. . 7 1
result as a mixed fraction: 9 + 3

o Watch Video Solution

12. Compute the following and express the

4
result as a mixed fraction: 1 — 7

o Watch Video Solution



https://dl.doubtnut.com/l/_72VliYUsfo8o
https://dl.doubtnut.com/l/_MRSVxFI1JwcA

13. Compute the following and express the

1
result as a mixed fraction: 2§ + 3

° Watch Video Solution

14. Compute the following express the result

. : 5 1
as a mixed fraction: — — —

8 6

o Watch Video Solution



https://dl.doubtnut.com/l/_5YwfjnKKmERN
https://dl.doubtnut.com/l/_hxseah8IKn9Y

15. Compute the following express the result

2 1
as a mixed fraction: 25 4+ 35

o Watch Video Solution

5 5 1
16. Arrange in Ascending Order : 3°8 32

o Watch Video Solution

3

2 1
17. A in A i D=, =
7. Arrange in Ascending Order =3 10

o Watch Video Solution



https://dl.doubtnut.com/l/_Vfi70FIfmNrl
https://dl.doubtnut.com/l/_C5cs8OoMcdyn
https://dl.doubtnut.com/l/_ybPLp4OWjkqv

18. check whether in this square the sum of
the numbers in each row and in each column

and along the diagonals is the same.

(s [ [ 2
13 13 13
NFAEY
13 13 i3 |
12 1 L
LR 13

o Watch Video Solution



https://dl.doubtnut.com/l/_ybPLp4OWjkqv
https://dl.doubtnut.com/l/_z0LJAlUAlOmn

2
19. A Rectangular sheet of paper is 5§ cm

long and SZ cm wide. Find its Perimeter.

° Watch Video Solution

1

20. The recipe requires 3Z cups of flour.

Radha has 1§ cups of flour. How many more

cups of flour does she need?

° Watch Video Solution



https://dl.doubtnut.com/l/_YyZPPJ2N0VHI
https://dl.doubtnut.com/l/_A5TliKKK2c6n

21. Abdul is preparing for his final exam. He has

5
completed T part of his course content. Find

out how much course content is left?

o Watch Video Solution

22.Solve : 4 + % =

o Watch Video Solution

23. Sol '3—|—2_
.Ove.g 7—

f ) |


https://dl.doubtnut.com/l/_YAsOspiPiuEp
https://dl.doubtnut.com/l/_eksWcsHFZFnL
https://dl.doubtnut.com/l/_MN12PE45QYyy

o Watch Video Solution

1
24. A rectangular sheet of paper 125 cm Long

and 10§ cm wide. Find its perimeter.

o Watch Video Solution



https://dl.doubtnut.com/l/_MN12PE45QYyy
https://dl.doubtnut.com/l/_IuTzPDmgvRyT

25. Find the perimeters of /\ABE

C

o Watch Video Solution



https://dl.doubtnut.com/l/_SOYKIfUyjxj2

26. The rectangle BCDE in this figure. Which

figure has greater perimeter by how much?

C

o Watch Video Solution



https://dl.doubtnut.com/l/_OWRJWrrwMqdu

1 3
27. Jaya purchases 3§kg apples and 4Z kg

oranges. What is the total weight of fruits

purchased by her?

o Watch Video Solution

1
28. Additional bits : 2 + 7=

o Watch Video Solution

3
29. Additional bits : 1 — 71 =



https://dl.doubtnut.com/l/_olEe3eegmu41
https://dl.doubtnut.com/l/_uRMwpWaYEpdE
https://dl.doubtnut.com/l/_HMPZbEwwL8Fl

o Watch Video Solution

6 2
.A .t. . : Ta — T eeeee
30. Additional bits 3 + 1+ 3

o Watch Video Solution

31. Additional bits : Z — i =
7 7

o Watch Video Solution

1 3
32. Additional bits : 35 + BZ = e



https://dl.doubtnut.com/l/_HMPZbEwwL8Fl
https://dl.doubtnut.com/l/_k68LMROCQ4YL
https://dl.doubtnut.com/l/_rXOfAkuGP9r4
https://dl.doubtnut.com/l/_v0gvEzCrTPQN

o Watch Video Solution

20

33. Additional bits : — =
itional bits : -2

o Watch Video Solution

1
34. Additional bits : 15 = e

o Watch Video Solution



https://dl.doubtnut.com/l/_v0gvEzCrTPQN
https://dl.doubtnut.com/l/_zavOWiySESw6
https://dl.doubtnut.com/l/_k5FZUAJa4jpK

35. Additi | bit L L L L 1=
. Iitiona |s.2+2+2+2+ =

o Watch Video Solution

36. Additional bits: 2 /100 =

o Watch Video Solution

. .3 7
37. Additional bits: — x — = ......
4 7

o Watch Video Solution



https://dl.doubtnut.com/l/_nJGiUez8Bluh
https://dl.doubtnut.com/l/_mSzaHAzCbhCa
https://dl.doubtnut.com/l/_RWkb164QpRgk

2
38. Find the value : 4 x -

o Watch Video Solution

3
39. Find the Value : 4 x 5

o Watch Video Solution

1
40. Find the Value : 7 x 3

o Watch Video Solution



https://dl.doubtnut.com/l/_RWkb164QpRgk
https://dl.doubtnut.com/l/_0B3DwaaX8f33
https://dl.doubtnut.com/l/_o6bYh836RWrb
https://dl.doubtnut.com/l/_u38UXrBXlIOA

3
41.Find the Value : 5 x 3

o Watch Video Solution

42.Find the Value : 4 x %

o Watch Video Solution

8
43. Find the Value : 7 x 3

o Watch Video Solution



https://dl.doubtnut.com/l/_u38UXrBXlIOA
https://dl.doubtnut.com/l/_TupmVjk6XaYU
https://dl.doubtnut.com/l/_H4CLJwnYgp7D
https://dl.doubtnut.com/l/_B2zhdF8cGlil

2
44.Find the Value: 3 x 27

o Watch Video Solution

1
45. Find the Value : 5 X 25

o Watch Video Solution

1
46. Find the Value : 8 x 47

o Watch Video Solution



https://dl.doubtnut.com/l/_B2zhdF8cGlil
https://dl.doubtnut.com/l/_7sRksEGdS5Ch
https://dl.doubtnut.com/l/_7IxNKSWb9iwI
https://dl.doubtnut.com/l/_ieO6XtvUA1dq

2
47.Find the Value : 4 x 15

o Watch Video Solution

1
48. Find the Value : 5 X 15

o Watch Video Solution

1 2
49. Represent pictorially 2 x T E

o Watch Video Solution



https://dl.doubtnut.com/l/_ieO6XtvUA1dq
https://dl.doubtnut.com/l/_1S7DlC6JxeVw
https://dl.doubtnut.com/l/_SKooDIL3IgLZ
https://dl.doubtnut.com/l/_p4j7bHt1GYmk

50. Multiply and write the Answer as A Mixed

fraction : 5 x 10

o Watch Video Solution

51. Multiply and write the Answer as A Mixed

fraction: — x 4
3

o Watch Video Solution



https://dl.doubtnut.com/l/_p4j7bHt1GYmk
https://dl.doubtnut.com/l/_pOIrIaKOYYi4
https://dl.doubtnut.com/l/_C0qqjFo6mt0b

52. Multiply and write the Answer as A Mixed

fraction: — x 2
raction 7

o Watch Video Solution

53. Multiply and write the Answer as A Mixed

fraction: — x 5
raction 9 X

o Watch Video Solution



https://dl.doubtnut.com/l/_miGtBgLJ21IY
https://dl.doubtnut.com/l/_KhDZRYdaC6mv

54. Multiply and write the answer as a mixed

fraction: 15 x 5

o Watch Video Solution



https://dl.doubtnut.com/l/_qmC910SFDZiZ

1
55. (a)Shade: 3 of the circles in box.

o Watch Video Solution



https://dl.doubtnut.com/l/_zUET86n7dEXE
https://dl.doubtnut.com/l/_yZ8RkorOQWpu

2
56. (b)Shade: gof the triangles in box.

AWalat
AAA

O A LA
(b)

° Watch Video Solution



https://dl.doubtnut.com/l/_yZ8RkorOQWpu

3
57. (c)Shade: gof the rectangles in box.

O

I3 IC ]
I 33

()

o Watch Video Solution



https://dl.doubtnut.com/l/_biQujYiuCdNM

o Watch Video Solution

1
59. Find the Value: 3 of 12



https://dl.doubtnut.com/l/_uLyLSqgG6Gm2
https://dl.doubtnut.com/l/_1FL6KSxDGZyd

l ° Watch Video Solution

2
60. Find the Value : 5 of 15

° Watch Video Solution

6
61. Multiply : 2 X =

° Watch Video Solution

1
62. Multiply : 13 X 3



https://dl.doubtnut.com/l/_1FL6KSxDGZyd
https://dl.doubtnut.com/l/_hPIqbMkAYJtO
https://dl.doubtnut.com/l/_hmbu3leR3L3I
https://dl.doubtnut.com/l/_FhUgIr9EI738

l ° Watch Video Solution

2
63. Find the value : 3 of 18

° Watch Video Solution

3
64. Find the value : 1 of 16

° Watch Video Solution

1
65. Additional bits : 2 x 7=



https://dl.doubtnut.com/l/_FhUgIr9EI738
https://dl.doubtnut.com/l/_S0zoYcyH7ncI
https://dl.doubtnut.com/l/_wiJQ9gDxHvjB
https://dl.doubtnut.com/l/_cg5Wccrx2g48

l ° Watch Video Solution

2
66. Additional bits : 4 x - =

° Watch Video Solution

1
67. Additional bits : 3§ = e

° Watch Video Solution

5
68. Additional bits : 3 +

w| ot



https://dl.doubtnut.com/l/_cg5Wccrx2g48
https://dl.doubtnut.com/l/_RiEVXT40ldkw
https://dl.doubtnut.com/l/_Oxm8apV7iGdf
https://dl.doubtnut.com/l/_EjZzKXtgH1gw

l ° Watch Video Solution

8
69. Additional bits : 7 X 3 = .

° Watch Video Solution

1
70. Additional bits : 5 % 15 =

° Watch Video Solution

1
71. Additional bits : 3 of 26 = ...



https://dl.doubtnut.com/l/_EjZzKXtgH1gw
https://dl.doubtnut.com/l/_Qe3wDNuAnrn8
https://dl.doubtnut.com/l/_GJkVizvhsC48
https://dl.doubtnut.com/l/_GIwuggMfQoka

l ° Watch Video Solution

3
72. Additional bits : 5 X 10 = ...

° Watch Video Solution

2
73. Additional bits : 5 of 15 = ...

° Watch Video Solution

3
74. Additional bits : 7 of 12 = ...



https://dl.doubtnut.com/l/_GIwuggMfQoka
https://dl.doubtnut.com/l/_jE0eJMoYmHPm
https://dl.doubtnut.com/l/_v8G1Kdcl8Zre
https://dl.doubtnut.com/l/_qr0LdpSjzpSI

l ° Watch Video Solution

75. Multiply and Express the Answer as Mixed

fraction : 3 x 53

o Watch Video Solution

76. Multiply and Express the Answer as Mixed

fraction : 33 X 8

° Watch Video Solution



https://dl.doubtnut.com/l/_qr0LdpSjzpSI
https://dl.doubtnut.com/l/_5KVyzRjwGAq0
https://dl.doubtnut.com/l/_M6TP1Y3gcQFd
https://dl.doubtnut.com/l/_zG5AItCMYbUA

5
77. At Ahmed's birthday party, Fpart of the
total cake was distributed. Find how much

cake is left?

° Watch Video Solution

3
78.Solve : 2 + 1 =

° Watch Video Solution

79.Solve : 1 2
.Solve : 7 =

| oo |


https://dl.doubtnut.com/l/_zG5AItCMYbUA
https://dl.doubtnut.com/l/_KMa2ZCYRaT7L
https://dl.doubtnut.com/l/_d1TVm3yAaFd3

| & Watch Video Solution

80. A Rectangular sheet of Paper is 5.2 cm long

3.4 cm wide. Find its Perimeter.

° Watch Video Solution

2
81. Multiply : 15 X 5

° Watch Video Solution



https://dl.doubtnut.com/l/_d1TVm3yAaFd3
https://dl.doubtnut.com/l/_pY5Dqd6DpZTc
https://dl.doubtnut.com/l/_ddDdEFB3a8tv

2
82. Multiply : 9 X 9

o Watch Video Solution

1
83. Fill in the blanks : 3 X 4 = ...

o Watch Video Solution

1
84. Fill in the blanks : 3 of 16........

o Watch Video Solution



https://dl.doubtnut.com/l/_6vAslZja3K8A
https://dl.doubtnut.com/l/_fXHJetq9iWQF
https://dl.doubtnut.com/l/_qXv63MBf3xe6

85. Fill in the blank L L L =
.||neans.2+2+2— .....
o Watch Video Solution

T 1 1
86. Fill in the blanks : g 1 (use > or

<)

o Watch Video Solution

87. what happens to the value of the product

when we multiply two proper fractions?


https://dl.doubtnut.com/l/_anxIqE0PKwXe
https://dl.doubtnut.com/l/_c1S6YkKtxwi7
https://dl.doubtnut.com/l/_9ZhyGpX2iJoG

| &=

| e

A
wij |

2 4 2 8
Eg EKE"ls 15"-'53“.5 Product is less than each
of the fractions
1.2a
577 -
s .z
5 8 40
2 4_8
]9 45

° Watch Video Solution

T

5
. Find th D=
88. Find the product 5 X 11

° Watch Video Solution

1
89. Find the product : 6 x 5

l o Watch Video Solution


https://dl.doubtnut.com/l/_9ZhyGpX2iJoG
https://dl.doubtnut.com/l/_Mv5C8EywwMOw
https://dl.doubtnut.com/l/_5JcZMNZyLzfG

90. Multiply and reduce to lowest form :

2><31
3 5

o Watch Video Solution

91. Multiply and reduce to lowest form :

2><51
3 5

o Watch Video Solution



https://dl.doubtnut.com/l/_5JcZMNZyLzfG
https://dl.doubtnut.com/l/_R0p4L0MXJlNI
https://dl.doubtnut.com/l/_fbN2HQnFOZP2

92. Multiply and reduce to lowest form :

2><1
7T 3

o Watch Video Solution

93. Multiply and reduce to lowest form :

9><5
3 5

o Watch Video Solution

b . I l _ I —



https://dl.doubtnut.com/l/_UhiB2eIf3gD8
https://dl.doubtnut.com/l/_X1I2ZYmNxDgY
https://dl.doubtnut.com/l/_2dEGeEmw9DyM

o Watch Video Solution

: : 1 _4 2 3
95. Which one is greater? — of — or — of —
2 7 5 7

o Watch Video Solution

96. Rehana works 25 hours each day on her
embroidery. She completes the work in 7 days.

How many hours did she take to complete her

work?

o Watch Video Solution



https://dl.doubtnut.com/l/_2dEGeEmw9DyM
https://dl.doubtnut.com/l/_TvpssBkigjhz
https://dl.doubtnut.com/l/_1Vub0xM529o3

97. A truck runs 8 km using 1 litre of petrol.

2
How much distance will it cover using 10§

litres of petrol?

° Watch Video Solution

98. Raja walks 15 meters in 1 second. How

much distance will he walk in 15 minutes?

o Watch Video Solution



https://dl.doubtnut.com/l/_1Vub0xM529o3
https://dl.doubtnut.com/l/_N6JZpPNdZl5c
https://dl.doubtnut.com/l/_dEdTzcWKkQbx
https://dl.doubtnut.com/l/_Tm5gAeaoij5c

, 2 2
99. Multiply : 3 X 7§

o Watch Video Solution

.6
4

| w

100. Multiply :

o Watch Video Solution

101. Rama reads 1 of a short novel in 1 hr.

1
Then The part of the book he will read in 25

hris ... ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Tm5gAeaoij5c
https://dl.doubtnut.com/l/_9H6VZkCXJLw5
https://dl.doubtnut.com/l/_Z02iSi6Uwx5v

102. A car runs 16 km using 1 litre of petrol.
How much distance will cover using ZZ litres

of petrol.

o Watch Video Solution

. 2 2
103. Multiply : 3 X 2§

o Watch Video Solution



https://dl.doubtnut.com/l/_Z02iSi6Uwx5v
https://dl.doubtnut.com/l/_VhbncMsLCY9w
https://dl.doubtnut.com/l/_wXGcrXORG2z4

104. Multipl '62 X !
. MuUlItipiy: g 6

o Watch Video Solution

1
105. Find the Value : 2 + 1

o Watch Video Solution

1
106. Find the Value : 7 + 3

o Watch Video Solution



https://dl.doubtnut.com/l/_5yGLZ3yK23T2
https://dl.doubtnut.com/l/_ZAmpBNmO9dkW
https://dl.doubtnut.com/l/_5kGKb1VnqS8x

1
107. Find the Value : 3 + 5

o Watch Video Solution

108. Will the reciprocal of a proper fraction be

a proper fraction?

o Watch Video Solution

109. Will the reciprocal of an improper fraction

be an improper fraction?



https://dl.doubtnut.com/l/_2E9rEdlOoQVZ
https://dl.doubtnut.com/l/_h4i2hetWPrjX
https://dl.doubtnut.com/l/_KiR4dsuTByOz

o Watch Video Solution

110. Raju applied this inverting procedure to
Mixed fractions and said that the reciprocal of

1 2
15 is 1T' Is he right? Check?

o Watch Video Solution

2
111. Find the Value : 9 + 5

o Watch Video Solution



https://dl.doubtnut.com/l/_KiR4dsuTByOz
https://dl.doubtnut.com/l/_dz0c0RWdkUcR
https://dl.doubtnut.com/l/_Yygc8emMH14W
https://dl.doubtnut.com/l/_6Bq2BGjpIDZR

112. Find the Value : 3 + ;

o Watch Video Solution

8
113. Find the Value : 2 + 9

o Watch Video Solution

1
14.Find: 7 + 5§=

o Watch Video Solution



https://dl.doubtnut.com/l/_6Bq2BGjpIDZR
https://dl.doubtnut.com/l/_IOxZDAmKq7TY
https://dl.doubtnut.com/l/_s9dlp8adoZcZ
https://dl.doubtnut.com/l/_yN7HObPvhyGm

115.Find: 5 + 2;

o Watch Video Solution

1

3
116. Find the Value : — —
N e Value 5—|—2

o Watch Video Solution

3 1
117. Find the Value : T + 5

o Watch Video Solution



https://dl.doubtnut.com/l/_yN7HObPvhyGm
https://dl.doubtnut.com/l/_z0Z4XdWqjKC7
https://dl.doubtnut.com/l/_1t4SS2vYA3sl
https://dl.doubtnut.com/l/_q0uymZ8q38xP

1 3
118. Find the Value : 25 + 5

o Watch Video Solution

119F'd51 ).
. FINA: E—i_E_

o Watch Video Solution

5
120. Find the Reciprocal of the fraction: 3

o Watch Video Solution



https://dl.doubtnut.com/l/_q0uymZ8q38xP
https://dl.doubtnut.com/l/_7grtT9V5ZnhH
https://dl.doubtnut.com/l/_WVRwGQgYlfoM
https://dl.doubtnut.com/l/_34qxiWpmGH8T

8
121. Find the Reciprocal of the Fraction : =

o Watch Video Solution

13
122. Find the Reciprocal of the fraction: 2

o Watch Video Solution

3
123. Find the Reciprocal of the Fraction : 1

o Watch Video Solution



https://dl.doubtnut.com/l/_34qxiWpmGH8T
https://dl.doubtnut.com/l/_HwdG5L6bB2PY
https://dl.doubtnut.com/l/_3tJe6s4I9lyn
https://dl.doubtnut.com/l/_xXOuDwVgmRx7

3
124. Find the Value : 18 + 1

o Watch Video Solution

125. Find the Value : 8 + g

o Watch Video Solution

126. Find the Value : 3 + 2%

o Watch Video Solution



https://dl.doubtnut.com/l/_xXOuDwVgmRx7
https://dl.doubtnut.com/l/_B7Z0ahmuHBIu
https://dl.doubtnut.com/l/_ITbt5QMEHMnr
https://dl.doubtnut.com/l/_Owb1eMKYQAHq

127.Find: 5 + 3%

o Watch Video Solution

2
128. Find the Value: 5 + 3

o Watch Video Solution

129. Find: % +5

o Watch Video Solution



https://dl.doubtnut.com/l/_Owb1eMKYQAHq
https://dl.doubtnut.com/l/_65Z8eIEEUSqN
https://dl.doubtnut.com/l/_bQTLlzKvnEpQ
https://dl.doubtnut.com/l/_0J4sYgE28AtG

130. Find: b + 4
' 9 5

° Watch Video Solution

131. Deepak can paint 5 of a house in one day.
If he continues working at this rate, then how
many days will he take to paint the whole

house?

o Watch Video Solution



https://dl.doubtnut.com/l/_0J4sYgE28AtG
https://dl.doubtnut.com/l/_VpAqxZoc9OSL

132. Find the Value : % + 5

o Watch Video Solution

3

o Watch Video Solution

1
134. Additional bits : 3 + g =

o Watch Video Solution



https://dl.doubtnut.com/l/_zws9GD25WoIv
https://dl.doubtnut.com/l/_j6jDEZrKU7ov
https://dl.doubtnut.com/l/_muzl1pkT1B0S

1
135.Find: 7 + 1

o Watch Video Solution

136 l\dd|t|0||a| bItS . >< T eeeeee
(]
4 5

o Watch Video Solution

1
137. Additional bits : 9 X 9 = ...

o Watch Video Solution



https://dl.doubtnut.com/l/_bHf163vizJGF
https://dl.doubtnut.com/l/_Dv2pHTHL2rNo
https://dl.doubtnut.com/l/_5PjlvK7ZX3tY

3
138. Find the Reciprocal of the Fraction : 1

o Watch Video Solution

2
139.Find: 4 + 3§=

o Watch Video Solution

3
140. Find : 2 —|— Z=

o Watch Video Solution



https://dl.doubtnut.com/l/_T33lOsYcPaFA
https://dl.doubtnut.com/l/_V04ZBc3kYLEc
https://dl.doubtnut.com/l/_Z10HGSYLBXJ7

1
141. Find: 2§ + 9=

o Watch Video Solution

1

3
142. Find the Value : — —
N e Value 5+2

o Watch Video Solution

1
143. Additional bits : The Reciprocal of 35 is

o Watch Video Solution



https://dl.doubtnut.com/l/_xqypWnopBiD2
https://dl.doubtnut.com/l/_6RvVbOTbjNiR
https://dl.doubtnut.com/l/_3rem4cHI9uu3

144, Find: = +
.|n.5 5

o Watch Video Solution

145F'd21-|—3‘
.|n.3 E-

o Watch Video Solution

2
146. Find the Reciprocal of 1§

o Watch Video Solution



https://dl.doubtnut.com/l/_3rem4cHI9uu3
https://dl.doubtnut.com/l/_Lo0npngGQyQR
https://dl.doubtnut.com/l/_Ds7XPY0Y8n3P
https://dl.doubtnut.com/l/_s1DIHuOVj459

8
147. Find the reciprocal of 25

o Watch Video Solution

148. Find the reciprocal of 4

o Watch Video Solution

149F'd21 31
: 12— X 3—
ind: 23 :

o Watch Video Solution



https://dl.doubtnut.com/l/_s1DIHuOVj459
https://dl.doubtnut.com/l/_JnyICHag2Rq1
https://dl.doubtnut.com/l/_ExcvzhatODlf
https://dl.doubtnut.com/l/_LequMPTvSfFt

2
150. Find the Value : 6 x I7

o Watch Video Solution

1
151. Fill in the blanks: 3 + 2=........

o Watch Video Solution

1
152. Fill in the blanks : 3 =

N | —

o Watch Video Solution



https://dl.doubtnut.com/l/_LequMPTvSfFt
https://dl.doubtnut.com/l/_AcNXGqHiKDWO
https://dl.doubtnut.com/l/_u5XbOAWPobMV
https://dl.doubtnut.com/l/_27RMWaHcCpeJ

1
153. Fill in the blanks: 15 + 1=.....

o Watch Video Solution

2
154. Fill in the blanks : 4 = 33 = e

o Watch Video Solution

1
155. Fill in the blanks : 1 x 3 =

o Watch Video Solution



https://dl.doubtnut.com/l/_27RMWaHcCpeJ
https://dl.doubtnut.com/l/_Eytxx1O09OqS
https://dl.doubtnut.com/l/_yVgEMUcx426D
https://dl.doubtnut.com/l/_cMi8RCbgRN6m

3
156. Fill in the blanks : 18 = 1 =

° Watch Video Solution

3
157.Fill in the blanks : The Reciprocal of i

o Watch Video Solution



https://dl.doubtnut.com/l/_cMi8RCbgRN6m
https://dl.doubtnut.com/l/_1wYvJx0HEXVC
https://dl.doubtnut.com/l/_eJo8QRiHFirJ

158. Fill in the blanks : The Reciprocal of 3 =

o Watch Video Solution

159. Write the following numbers in their

expanded form : 30.807

o Watch Video Solution



https://dl.doubtnut.com/l/_RVPemFUvf9Ms
https://dl.doubtnut.com/l/_mdROJATyJF34

160. Write the number in their expanded form

: 968.038

o Watch Video Solution

161. Write the number in their expanded form:

8370.705

o Watch Video Solution

162. Find the Value : 0.25 + 5.30



https://dl.doubtnut.com/l/_BsQ5Kmh6tmBW
https://dl.doubtnut.com/l/_ljYuImwORX2M
https://dl.doubtnut.com/l/_Te7M7qdQukFJ

o Watch Video Solution

163. Find the Value : 29.75 — 25.97

o Watch Video Solution

164. Which one is greater 0.7 or 0.077

o Watch Video Solution

165. Which one is greater 7 or 8.57



https://dl.doubtnut.com/l/_Te7M7qdQukFJ
https://dl.doubtnut.com/l/_aMyZD3CAk4rJ
https://dl.doubtnut.com/l/_93pOyhhPx7jt
https://dl.doubtnut.com/l/_9M0aknptcLoU

o Watch Video Solution

166. Which one is greater? 1.47 or 1.51

o Watch Video Solution

167. Which one is greater 6 or 0.66 7

o Watch Video Solution

168. Express in rupees using decimals : 9 paise



https://dl.doubtnut.com/l/_9M0aknptcLoU
https://dl.doubtnut.com/l/_GeDZu1KzDkUi
https://dl.doubtnut.com/l/_b7IHdwKFoKLI
https://dl.doubtnut.com/l/_362yRsg4ngrm

o Watch Video Solution

169. Express as rupees using decimals: 77 paise

o Watch Video Solution

170. Express as rupees using decimals : 7 paise

o Watch Video Solution



https://dl.doubtnut.com/l/_362yRsg4ngrm
https://dl.doubtnut.com/l/_uV6VVvwxIU2f
https://dl.doubtnut.com/l/_q7aXxXlEVImg

171. Express as rupees using decimals : 235

paise

o Watch Video Solution

172. Write the given decimal number in it's

expanded form : 55.5

o Watch Video Solution



https://dl.doubtnut.com/l/_GLQFsUFFsr0u
https://dl.doubtnut.com/l/_20ZA0fBMWTKE

173. Write the following decimal numbers in

expanded form :5.55

o Watch Video Solution

174. Write the following decimal numbers in

expanded form : 303.03

o Watch Video Solution



https://dl.doubtnut.com/l/_CZmkgg3p285N
https://dl.doubtnut.com/l/_wFIdZz0wUd3u

175. Write the following decimal numbers in

expanded form : 30.303

° Watch Video Solution

176. Write the following decimal numbers in

expanded form : 1234.56.

o Watch Video Solution

177. Express 10 cm in metre and kilometre.



https://dl.doubtnut.com/l/_YhJuBZOIaTdg
https://dl.doubtnut.com/l/_Rg7jUlUSp1l3
https://dl.doubtnut.com/l/_qoUDEEEf8HLW

o Watch Video Solution

178. Express 45 mm in centimeter, meter and

kilometer.

° Watch Video Solution

179. Write the place value of 3 in the decimal

numbers: 3.46

o Watch Video Solution



https://dl.doubtnut.com/l/_qoUDEEEf8HLW
https://dl.doubtnut.com/l/_wnwXuv4D2jkC
https://dl.doubtnut.com/l/_o7QkSPrBELA3
https://dl.doubtnut.com/l/_grecc9ulwn5E

180. Write the place value of 3 in the decimal

numbers: 32.46

o Watch Video Solution

181. Write the place value of 3 in the decimal

numbers : 7.43

o Watch Video Solution



https://dl.doubtnut.com/l/_grecc9ulwn5E
https://dl.doubtnut.com/l/_5PHVt8NXkzdQ

182. Write the place value of 3 in the decimal

numbers: 90.30

o Watch Video Solution

183. Write the place value of 3 in the decimal

numbers: 794.037

o Watch Video Solution

184. Express in kilograms: 190 g



https://dl.doubtnut.com/l/_XRTKtV9ycv7Z
https://dl.doubtnut.com/l/_amKXoJzLYoKP
https://dl.doubtnut.com/l/_KO9eQDxB6Ltc

o Watch Video Solution

185. Express in kilograms: 247 g

o Watch Video Solution

186. Express the given weight in kilograms :

44kg 80 gm

o Watch Video Solution



https://dl.doubtnut.com/l/_KO9eQDxB6Ltc
https://dl.doubtnut.com/l/_X65KIrBcomHy
https://dl.doubtnut.com/l/_g4DbvZ6eFGpJ

187. Aruna and Radha start their journey from
two different places A and E. Aruna chose the
path from A to B then to C, while Radha chose
the path from E to D then to C. Find who

travelled more and by how much?

o Watch Video Solution

188. Upendra went to the market to buy
vegetables. He brought 2 kg 250 gm tomatoes,

2 kg 500 gm potatoes, 750 gm lady fingers and


https://dl.doubtnut.com/l/_IUdQGEwBgjl7
https://dl.doubtnut.com/l/_0EVB2AoRMjEf

125 gm green chillies. How much weight did

upendra carry back to his house?

° Watch Video Solution

189. Write the expanded form of : 45.5

° Watch Video Solution

190. Write the expanded form of : 20.304

° Watch Video Solution



https://dl.doubtnut.com/l/_0EVB2AoRMjEf
https://dl.doubtnut.com/l/_elUreGEerNlR
https://dl.doubtnut.com/l/_llQ5flLWRUlW

191. How much less is 28km than 42.6km?

o Watch Video Solution

192. Which is greater? 1.37 or 1.49?

o Watch Video Solution

193. Which is greater? 0.8 or 0.88

o Watch Video Solution



https://dl.doubtnut.com/l/_1P908J7yW6uh
https://dl.doubtnut.com/l/_TKfIctBhmcMf
https://dl.doubtnut.com/l/_0Lwny4vq2W1s

1
194. Additional bits : — = .....
itional bits : =5

o Watch Video Solution

1
195. Additional bits : 4 X —— = ...
itional bits : 4 X 100

o Watch Video Solution

196. convert: 5 paise into ?......

o Watch Video Solution



https://dl.doubtnut.com/l/_fenSiGuhdv3w
https://dl.doubtnut.com/l/_1rRiQPqdoGNM
https://dl.doubtnut.com/l/_7WRXx6dpeTRa

197. fill in the blanks 15 cm-=.......... m.

o Watch Video Solution

198. fill in the blanks 5 km-=............ m.

o Watch Video Solution

199. Fill in the blanks 0.7............... 007 (> or <)

o Watch Video Solution



https://dl.doubtnut.com/l/_ic9G4F7s3dkh
https://dl.doubtnut.com/l/_2JzNxjA8zbVB
https://dl.doubtnut.com/l/_Hc23Ze7ndsnp

200. Add: 0.25 + 0.75...........

o Watch Video Solution

201. Add: 221.85 + 37.10=........

o Watch Video Solution

202. Additional bits : 39.70 — 6.85 = ..........

o Watch Video Solution



https://dl.doubtnut.com/l/_kzs1ozSHvymx
https://dl.doubtnut.com/l/_iDTIAcJpaler
https://dl.doubtnut.com/l/_WB6YhzWgNZDY

203. convert : 7m-=.................. cm.

o Watch Video Solution

204.Find: 1.7 x 3

o Watch Video Solution

205.Find :2.0 x 1.5

o Watch Video Solution



https://dl.doubtnut.com/l/_5syCPWmOZGg4
https://dl.doubtnut.com/l/_tRVZVwx68ITt
https://dl.doubtnut.com/l/_e0hKCbrdbSYo

206.Find: 2.3 x4.35

o Watch Video Solution

207. Observe the pattern in the table, given

below and complete it
= = =
29.5 + 10 = 2,95 i I O 1 — 1Sell= . (1736 2+ 10
29.5 + 100 = 0,295 1327+ 1M = . | 1S+ D ™ . 1T 6 » IO =
29.5 4 1000 = 0,0295 | 1327+ 1000 = e | 1.5 & 1000 = e | 1736 = 100 = oo

o Watch Video Solution

208.Find: 35.7 + 3=


https://dl.doubtnut.com/l/_iqSXh3BCE0Uf
https://dl.doubtnut.com/l/_jThb6xkMcb1S
https://dl.doubtnut.com/l/_gHMp6LC8Mdns

° Watch Video Solution

209. Find: 25.5 + 3=

° Watch Video Solution

210. Find the area of a rectangle whose length

is 6.2cm and breath is 4 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_gHMp6LC8Mdns
https://dl.doubtnut.com/l/_gz1UnsqL0Kbd
https://dl.doubtnut.com/l/_HMKEweVdBR3a

211. Solve: 0.3 X 6

o Watch Video Solution

212.Solve: 7 x 2.7

o Watch Video Solution

213.Solve: 2.71 x 5

o Watch Video Solution



https://dl.doubtnut.com/l/_nY2vX2ik7spM
https://dl.doubtnut.com/l/_wS7g8aSJczU0
https://dl.doubtnut.com/l/_NxOSCB7YqhSc

214. Solve: 19.7 x 4

o Watch Video Solution

215.Solve: 0.05 x 7

o Watch Video Solution

216. Solve: 210.01 x 5

o Watch Video Solution



https://dl.doubtnut.com/l/_DyZ6WB8adGWQ
https://dl.doubtnut.com/l/_tXp55RGuZSs7
https://dl.doubtnut.com/l/_7ruWkxn3LhX2

217.Solve: 2 x (0.86

o Watch Video Solution

218. Solve: 21.3 x 10

o Watch Video Solution

219. Solve: 36.8 x 10

o Watch Video Solution



https://dl.doubtnut.com/l/_jn9wObVbcpgF
https://dl.doubtnut.com/l/_I4hcWncBgplO
https://dl.doubtnut.com/l/_x3mSa3bICRuu

220.Solve : 53.7 x 10

o Watch Video Solution

221. Solve: 168.07 x 10

o Watch Video Solution

222.Solve: 131.1 x 100

o Watch Video Solution



https://dl.doubtnut.com/l/_ARKO0zTAVZpo
https://dl.doubtnut.com/l/_i2e8NSBCbfAd
https://dl.doubtnut.com/l/_5f9cpf5oOF6x

223.Solve: 156.1 x 100

o Watch Video Solution

224.Solve: 131.1 x 100

o Watch Video Solution

225.Solve: 156.1 x 100

o Watch Video Solution



https://dl.doubtnut.com/l/_CrEQFXAQDU6t
https://dl.doubtnut.com/l/_MWPF3MPEUVrY
https://dl.doubtnut.com/l/_X4hLeidPDKxw

226.Solve : 3.62 x 100

o Watch Video Solution

227.Solve: 43.07 x 100

o Watch Video Solution

228. Solve: 0.5 x 10

o Watch Video Solution



https://dl.doubtnut.com/l/_npepBS4G0asZ
https://dl.doubtnut.com/l/_VC6Kk6bnfrZb
https://dl.doubtnut.com/l/_9mCSuUP3K8a5

229, Solve: 0.08 x 10

o Watch Video Solution

230. Solve: 0.9 x 100

o Watch Video Solution

231. Solve: 0.03 x 1000

o Watch Video Solution



https://dl.doubtnut.com/l/_eqWOY3AZ6KZ8
https://dl.doubtnut.com/l/_WVNvPvt2dWWU
https://dl.doubtnut.com/l/_czHTlzqu9fBE

232.Solve : 2.3 = 100

o Watch Video Solution

233.Solve: 0.45 = 5

o Watch Video Solution

234.Solve: 44.3 = 10

o Watch Video Solution



https://dl.doubtnut.com/l/_noEPXUsms2FY
https://dl.doubtnut.com/l/_hDkvUYGa0Gd3
https://dl.doubtnut.com/l/_JLCnUEq1rnpD

235. Solve: 127.1 = 1000

o Watch Video Solution

236.Solve: 7 + 3.5

o Watch Video Solution

237.Solve: 88.5 + 0.15

o Watch Video Solution



https://dl.doubtnut.com/l/_Fpbyo2ax0oO7
https://dl.doubtnut.com/l/_T4GRfS7TNdp4
https://dl.doubtnut.com/l/_6dfEqE2WkK97

238. Solve: 0.4 = 20

o Watch Video Solution

239. A motor bike covers a distance of 62.5 km
consuming one litre of petrol. How much

distance does it cover for 10 litres of petrol?

o Watch Video Solution

240.Solve: 1.5 x 0.3



https://dl.doubtnut.com/l/_1r8syfjCCBly
https://dl.doubtnut.com/l/_KdeeK5RnVQLB
https://dl.doubtnut.com/l/_l4LLhfSJe29A

o Watch Video Solution

241. Solve: 0.1 x 47.5

o Watch Video Solution

242.Solve: 0.2 x 210.8

o Watch Video Solution

243.Solve: 4.3 x 3.4



https://dl.doubtnut.com/l/_l4LLhfSJe29A
https://dl.doubtnut.com/l/_DTQjPmWIihzY
https://dl.doubtnut.com/l/_clnHiipm3O1C
https://dl.doubtnut.com/l/_Bh5Qx2UsqNYD

o Watch Video Solution

244.Solve: 0.5 x 0.05

o Watch Video Solution

245, Solve: 11.2 x 0.10

o Watch Video Solution

246. Solve: 1.07 x 0.02



https://dl.doubtnut.com/l/_Bh5Qx2UsqNYD
https://dl.doubtnut.com/l/_5mYNiEUBHGBS
https://dl.doubtnut.com/l/_dEp0gTDH9GrP
https://dl.doubtnut.com/l/_3WrmowjRCrqN

o Watch Video Solution

247.Solve: 10.05 x 1.05

o Watch Video Solution

248.Solve : 101.01 x 0.01

o Watch Video Solution

249.Solve : 70.01 x 1.1



https://dl.doubtnut.com/l/_3WrmowjRCrqN
https://dl.doubtnut.com/l/_3irOTM69Cs7U
https://dl.doubtnut.com/l/_AWF2l6aFC2DK
https://dl.doubtnut.com/l/_WCZC1JckUIRT

o Watch Video Solution

250. A side of a regular polygon is 3.5 cm. in
length The perimeter of the polygon is 17.5 cm.

How many sides does the polygon have?

o Watch Video Solution

251. rainfall of 0.896 cm. was recorded in 7
hours. what was the average amount of rain

per hour?

| & I


https://dl.doubtnut.com/l/_WCZC1JckUIRT
https://dl.doubtnut.com/l/_vGpTyDWUlXX0
https://dl.doubtnut.com/l/_lQjmqrYdDx7N

| ¥ Watch Video Solution

1 1
252. Additi its : — X —
52. Additional bits 10 X 10

o Watch Video Solution

253. Additional bits,compute : 0.4 x 0.2

o Watch Video Solution

254, Additional bits: 0.1 x 0.1

|


https://dl.doubtnut.com/l/_lQjmqrYdDx7N
https://dl.doubtnut.com/l/_D2tz48q1egoh
https://dl.doubtnut.com/l/_LdIUtb6gBSaz
https://dl.doubtnut.com/l/_GYUSHuHtxpuI

| ¥ Watch Video Solution

255. Solve: 2.5 x 1.25

o Watch Video Solution

256. Solve: 1.2 x 2.5

o Watch Video Solution

8
257. Additional bits: ——=
itional bits: -5

|


https://dl.doubtnut.com/l/_GYUSHuHtxpuI
https://dl.doubtnut.com/l/_Af3KNzkLV39U
https://dl.doubtnut.com/l/_hlZMDKyjotsA
https://dl.doubtnut.com/l/_TJqEZgASuxPG

| ¥ Watch Video Solution

258.Solve: 1.7 x 3

o Watch Video Solution

259, Solve: 1.76 x 10

o Watch Video Solution

260. Solve: 0.5 x 1000

|


https://dl.doubtnut.com/l/_TJqEZgASuxPG
https://dl.doubtnut.com/l/_Z8yfhGELaHVd
https://dl.doubtnut.com/l/_psGjJLW87JbE
https://dl.doubtnut.com/l/_tsgJiIvsWElT

| ¥ Watch Video Solution |

261. Additional bits : If [ = 7.1em and

b = 2.5cm, then the Area of Rectangle = ........

cm2

o Watch Video Solution

262. Write 5 more fractions between 0 and 1

o Watch Video Solution



https://dl.doubtnut.com/l/_tsgJiIvsWElT
https://dl.doubtnut.com/l/_DDSMUj26gFNI
https://dl.doubtnut.com/l/_midlG6Dteu2x
https://dl.doubtnut.com/l/_Vs3ewuIPwDNj

263. Write 5 more fractions between 1 and 2

o Watch Video Solution

264.Find: 0.2 x 6

o Watch Video Solution

265.Find: 20.1 x 4

o Watch Video Solution



https://dl.doubtnut.com/l/_Vs3ewuIPwDNj
https://dl.doubtnut.com/l/_gBmwypFHeCGC
https://dl.doubtnut.com/l/_RKIZlL2aid9S
https://dl.doubtnut.com/l/_WAIIonqc76xR

266.Find: 2.5 x 0.3

o Watch Video Solution

267.Solve: 0.5 x 0.05

o Watch Video Solution

268. Find the area of rectangle whose length is

4.7 an and breadth is 2 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_WAIIonqc76xR
https://dl.doubtnut.com/l/_V7PdhIewtlPs
https://dl.doubtnut.com/l/_AWBhTm9YRp2M

269. Where does 43 lie on the number line?

o Watch Video Solution

270. Find the greatest and smallest numbers

among the groups: 2,-2,-3,4,0,-5

° Watch Video Solution

271. Find the greatest and smallest numbers

among the groups: -3,7,-8,0,-5,-2



https://dl.doubtnut.com/l/_3GohQpTrq93Q
https://dl.doubtnut.com/l/_1P5TsU9ppY8U
https://dl.doubtnut.com/l/_AsLTGVEPtreh

o Watch Video Solution

272. Write the numbers in ascending

order:2345,6549,9843,6742

o Watch Video Solution

273. write  descending  order

following:-5,753,-2,4

forthe

o Watch Video Solution



https://dl.doubtnut.com/l/_AsLTGVEPtreh
https://dl.doubtnut.com/l/_37aMFEYGNric
https://dl.doubtnut.com/l/_A0cIDCytLm0x
https://dl.doubtnut.com/l/_vVrjFHKR51aK

2
274. Write the numbers in ascending order: 3

30125
2””

o Watch Video Solution

275. Represent the numbers on number line:

—t—t—t— -ttt
7 -2 1 L 0 I 2

—_ kA

2

o Watch Video Solution



https://dl.doubtnut.com/l/_vVrjFHKR51aK
https://dl.doubtnut.com/l/_BOrO2DRpSyTl

276. Represent the numbers on number line:

—t—t—t—tt—t—t—t]
o I 2

S e e SR H S
3 L

2

L]
1
4

o Watch Video Solution

277. Represent the numbers on number line:

—tttt
7 ! o

- i .
1 3 ] F

4

° Watch Video Solution



https://dl.doubtnut.com/l/_jvrlD3U9m55a
https://dl.doubtnut.com/l/_m4Xejh823GZS

278. Represent the number on number line :

———t—t
[

_ -1 2 0 H

4

H——ttttft—t——f
: i

° Watch Video Solution

279. Represent the number on number line :

1 ——t—t—t}—+ ' —t—t——t—t+—t+——f—

=3 -1 0 I 2

- — 2

o Watch Video Solution



https://dl.doubtnut.com/l/_7MK00dEHwqQL
https://dl.doubtnut.com/l/_zRSOuBLfQY3E

280. the numbers on number line: 1

—t———t+t——t+— -
]

. i
=2 I 2 i 2

o Watch Video Solution

281. Write the 5 fractional numbers and

identify wi and ws in each of these.

o Watch Video Solution



https://dl.doubtnut.com/l/_QJRDpLEeb318
https://dl.doubtnut.com/l/_1pUXy40rGJpt

282. Take any 5 integers and make all possible

rational numbers with them.

° Watch Video Solution

283. Consider any 5 rational numbers. Find out

which integers constitute them?

o Watch Video Solution



https://dl.doubtnut.com/l/_tYvFZ8TPOOhh
https://dl.doubtnut.com/l/_dzbnKqdPBURz

284. Write three more equivalent fractions of
3/4 and mark them on the number line. What

do you observe?

o Watch Video Solution

285. Do all equivalent fractions of - represent

the same point on the number line?

° Watch Video Solution



https://dl.doubtnut.com/l/_fVHmGgCzCAyg
https://dl.doubtnut.com/l/_kpS5L9uOfQuO

3
286. Are — 2 and — 5 represent same point

on the number line?

o Watch Video Solution

4
287. Are — 3 and — 6 equivalent?

o Watch Video Solution

5

288. Write 5 equivalent rational numbers to 3

o Watch Video Solution



https://dl.doubtnut.com/l/_jazc0CESDLKl
https://dl.doubtnut.com/l/_V8x9AYS0XsXj
https://dl.doubtnut.com/l/_Epd8ZXAKjdSq

289. Write 5 equivalent rational numbers to

7

9

o Watch Video Solution

290. Write 5 equivalent rational numbers to

3

7

o Watch Video Solution



https://dl.doubtnut.com/l/_Epd8ZXAKjdSq
https://dl.doubtnut.com/l/_HVM8XsVBTJsf
https://dl.doubtnut.com/l/_9CI2Lgy7Ayi2

291. Identify the equivalent rational numbers

~1 -3 -2 4

in each question : 5 4 4 3

° Watch Video Solution

292. Identify the equivalent rational numbers

: : 1 3 5 10 2 20
in each question :—, —, —, —, —

o Watch Video Solution



https://dl.doubtnut.com/l/_OJY3UuycoNbl
https://dl.doubtnut.com/l/_rPnW44wlnSD9

293. Write any three equivalent rational

2
numbers to each of the following : 3

o Watch Video Solution

294. Write any three equivalent rational

3
numbers of: — —

8

o Watch Video Solution



https://dl.doubtnut.com/l/_pQRaVROyONAW
https://dl.doubtnut.com/l/_zpl0lDYZCW60

295. find the perimeter of the figure.

o Watch Video Solution

296. Write the following decimal numbers in

expanded form : 30.303

° Watch Video Solution



https://dl.doubtnut.com/l/_cCuZOYcQ4PPB
https://dl.doubtnut.com/l/_JzsPqNGApnyM

297. Write the given decimal number in it's

expanded form : 55.5

° Watch Video Solution

298. Find the average of 4.2,3.8 and 7.6.

° Watch Video Solution

299. Solve: 44.3 = 10

° Watch Video Solution



https://dl.doubtnut.com/l/_hm6fmUp04xuF
https://dl.doubtnut.com/l/_CuEIIsE8gSog
https://dl.doubtnut.com/l/_g8fzLdyJ121C

300. Solve: 127.1 = 1000

o Watch Video Solution

301. Fill in the blanks: 0.5 x 10...........

o Watch Video Solution

302. Fill in the blanks: 0.5 x 10...........

o Watch Video Solution



https://dl.doubtnut.com/l/_g8fzLdyJ121C
https://dl.doubtnut.com/l/_7OzDZg2pWdZw
https://dl.doubtnut.com/l/_MC0pALfAStVo
https://dl.doubtnut.com/l/_XzR3k8SOo0Ly

303. Fill in the blanks: 12.96 = 4..........

o Watch Video Solution

304.Fill in the blanks : Tm=.......... cm

o Watch Video Solution

305. What is the equivalent rational number

15
for — % with denominator 12.



https://dl.doubtnut.com/l/_XzR3k8SOo0Ly
https://dl.doubtnut.com/l/_1ijQUpaSDttD
https://dl.doubtnut.com/l/_xzlnfy83xist
https://dl.doubtnut.com/l/_Bo3o9u3a4tm2

o Watch Video Solution

306. What is the equivalent rational number

15
for — 36 with numerator -75?

o Watch Video Solution

307. Write any three equivalent rational

numbers to each of the following : 3

o Watch Video Solution



https://dl.doubtnut.com/l/_Bo3o9u3a4tm2
https://dl.doubtnut.com/l/_FOMrVVRtFxuA
https://dl.doubtnut.com/l/_oodazj8xX5zX
https://dl.doubtnut.com/l/_uDaJhgqeh5qp

308. Write any three equivalent rational

b 3
number:— —
umber:— =

o Watch Video Solution

309. Mark the rational numbers on the

1
number line: 2

o Watch Video Solution



https://dl.doubtnut.com/l/_uDaJhgqeh5qp
https://dl.doubtnut.com/l/_nHhiQ8OQrjDR

310. Mark the rational numbers on the number

li 3
ine: -

o Watch Video Solution

3

311. Represent the numbers on number line: 3

——t—t— -ttt
-2 1 21 0 I 2

o Watch Video Solution



https://dl.doubtnut.com/l/_UEuTxlQaQPro
https://dl.doubtnut.com/l/_4QuyUv0XsBKS

312. Mark the rational numbers on the number

' 10
ine: —

o Watch Video Solution

313. (True or false) Every integer is a rational

number and vice versa (.......... )

o Watch Video Solution



https://dl.doubtnut.com/l/_bW5flshHqKv5
https://dl.doubtnut.com/l/_WmSWmxFhlqig

314. (True or false) In a rational number of the

form £, g must be a non zero integer.(......... )

° Watch Video Solution

315. (True or false) Every decimal number can

be represented as a rational number.(......... )

o Watch Video Solution



https://dl.doubtnut.com/l/_FkM8UKmBTTBn
https://dl.doubtnut.com/l/_AlqZqQzLfG4C

5 6 7 :
316. (True or false) A aee equivalent

rational numbers.(.......... )

° Watch Video Solution

317. (True or false) Equivalent rational numbers

of a positive rational numbers are all positive

° Watch Video Solution



https://dl.doubtnut.com/l/_w3UrZxOJSCgr
https://dl.doubtnut.com/l/_agR9oC1djD4f

318. Solve: 31.5 <+ 100

o Watch Video Solution

319. Solve: 6.4 = 2

o Watch Video Solution

320. Additional bits : 12.96 + 4 =

o Watch Video Solution



https://dl.doubtnut.com/l/_mnQEZV4UBbFX
https://dl.doubtnut.com/l/_yw4eEf8ZiGVF
https://dl.doubtnut.com/l/_z6Qx5EqLO9Rh

321. Additional bits : 925 - 25 =

o Watch Video Solution

322. Additional bits : 1 hr=.......... minutes.

o Watch Video Solution

3.8
323. Additional bits: 4.2 + 7.6 + 3

o Watch Video Solution



https://dl.doubtnut.com/l/_XhkJQg0DmjgZ
https://dl.doubtnut.com/l/_i0yx7PYg27HV
https://dl.doubtnut.com/l/_Q0NTsBWtyQSD

324. Additional bits : 0.3 X 6 = ........

o Watch Video Solution

325.Solve : 2.3 = 100

o Watch Video Solution

3
326. solve g — (> or <)

o Watch Video Solution



https://dl.doubtnut.com/l/_LhRjm3LH5ODk
https://dl.doubtnut.com/l/_nhnrOuxKCt8j
https://dl.doubtnut.com/l/_w3eDs26L7TnQ

3
27. Additi | bits : — = ............
327. Additional bits B

o Watch Video Solution

328. Find the average of 4.2,3.8 and 7.6.

o Watch Video Solution

329.Find: 7 + 3.5

o Watch Video Solution



https://dl.doubtnut.com/l/_3oBYKmISVn8K
https://dl.doubtnut.com/l/_ATd9KkGr5Xfx
https://dl.doubtnut.com/l/_543TfhDUpRoC

330. Find: 36 + 0.2

o Watch Video Solution

331. Find: 7.9 < 1000

o Watch Video Solution

332.Find: 26.3 <+ 1000

o Watch Video Solution



https://dl.doubtnut.com/l/_nXucP8MvXS8U
https://dl.doubtnut.com/l/_gEXFneG2Ng4L
https://dl.doubtnut.com/l/_48jfLwRimRJe

333. Write any four equivalent fraction to 1

o Watch Video Solution

334.Solve: 0.45 = 5

o Watch Video Solution

335.Solve : 11 x 100

o Watch Video Solution



https://dl.doubtnut.com/l/_4D2KxrtvQWo3
https://dl.doubtnut.com/l/_D2xrw8Or5B5a
https://dl.doubtnut.com/l/_ulhA0CXCAKFP

336.Find: 1.7 x 3

o Watch Video Solution

337.Solve: 250.1 x 4

o Watch Video Solution

338.Fill in the blanks : 1 kg =

o Watch Video Solution



https://dl.doubtnut.com/l/_KvrLiSaUIT34
https://dl.doubtnut.com/l/_4VbEWGFqNlK7
https://dl.doubtnut.com/l/_WhtS7x7k0TvJ

339. Add: 221.85 4 37.10=........

o Watch Video Solution

4
340.Fill in the blanks : — = ..........
iIl'in the blanks : -

o Watch Video Solution

1
341. Fill in the blanks : 2 + 3 = e

o Watch Video Solution



https://dl.doubtnut.com/l/_cnkceFQz1cAC
https://dl.doubtnut.com/l/_1WwCASIhGkkb
https://dl.doubtnut.com/l/_SWceepowYOkz

5) 1
342. Fill in the blanks: 5 + §= ..........

o Watch Video Solution

1
343. Fill in the blanks : 12 of 7=

o Watch Video Solution

344. Fill in the blanks: Reciprocal of 1—-=.......

o Watch Video Solution



https://dl.doubtnut.com/l/_OwiWDEyAAXhY
https://dl.doubtnut.com/l/_hBS9Mhqmib5C
https://dl.doubtnut.com/l/_XIHUP0DfugXW

345. Abdul is preparing for his final exam. He

5
has completed T part of his course content.

Find out how much course content is left?

o Watch Video Solution

346. A truck runs 8km using 1 litre of petrol.

2
How much distance will it cover using 10§

° Watch Video Solution



https://dl.doubtnut.com/l/_6NXr6f01DPOM
https://dl.doubtnut.com/l/_aJNjWKUYy1pm

347. Upendra went to the market to buy
vegetables. He brought 2 kg 250 gm tomatoes,
2 kg 500 gm potatoes, 750 gm lady fingers and
125 gm green chillies. How much weight did

upendra carry back to his house?

o Watch Video Solution

348. Deepak can paint 5 of a house in one

day. If he continues working at this rate, then


https://dl.doubtnut.com/l/_Kmhe9LPmzJgJ
https://dl.doubtnut.com/l/_hn17czVEmGX6

how many days will he take to paint the whole

house?

° Watch Video Solution

349. A side of a regular polygon is 3.5 cm. in
length The perimeter of the polygon is 17.5 cm.

How many sides does the polygon have?

° Watch Video Solution

350. Express 10 cm in metre and kilometre.


https://dl.doubtnut.com/l/_hn17czVEmGX6
https://dl.doubtnut.com/l/_ZaIjaNkbThl3
https://dl.doubtnut.com/l/_RSrGneLEjNUO

° Watch Video Solution

351. Express 45 mm in centimeter, meter and

kilometer.

o Watch Video Solution

352. rainfall of 0.896 cm. was recorded in 7
hours. what was the average amount of rain

per hour?

o Watch Video Solution



https://dl.doubtnut.com/l/_RSrGneLEjNUO
https://dl.doubtnut.com/l/_T90qBolDlrGg
https://dl.doubtnut.com/l/_AY3P2S3WFWOv

353. Sol 7-|—1
-Solve: o+ <

o Watch Video Solution

7 1
354. Solve: 3 — —

6

o Watch Video Solution

355. Sol 22 31
. Solve: §—|— 5

o Watch Video Solution



https://dl.doubtnut.com/l/_AY3P2S3WFWOv
https://dl.doubtnut.com/l/_DRMq3rr0tgEe
https://dl.doubtnut.com/l/_WNwyFi7Z0cTc
https://dl.doubtnut.com/l/_7GirG1Oq2I0F

356. A rectangular sheet of paper is 5§cm

long and 33 cm wide. Find its perimeter.

° Watch Video Solution

7

5
357. Find th t: —
7.Fin e produc 5 X 11

° Watch Video Solution

358. Find: 2l X 3l
3 5

| |


https://dl.doubtnut.com/l/_7GirG1Oq2I0F
https://dl.doubtnut.com/l/_bjGInk91yqVK
https://dl.doubtnut.com/l/_pYkc7Cc9HeD0
https://dl.doubtnut.com/l/_yTBJfo0hP8d8

& Wwatch Video Solution I

359. Raja walks 15 meters in 1 second. How

much distance will he walk in 15 minutes?

o Watch Video Solution

360. Multiply and write the Answer as A Mixed

1
fraction : 3 X 4

° Watch Video Solution



https://dl.doubtnut.com/l/_yTBJfo0hP8d8
https://dl.doubtnut.com/l/_u5ShuvBslvhh
https://dl.doubtnut.com/l/_fviGP9UVJGdW
https://dl.doubtnut.com/l/_I5oN04BWBKmv

361. Multiply : 2 x g

° Watch Video Solution

2
362. Multiply : mn X b

° Watch Video Solution

363. Find the Reciprocal of the fraction : 1—73

° Watch Video Solution



https://dl.doubtnut.com/l/_I5oN04BWBKmv
https://dl.doubtnut.com/l/_P2iQi63MjydJ
https://dl.doubtnut.com/l/_Rvc2g1Z6CePf
https://dl.doubtnut.com/l/_ApNUP8fRvZnx

364. Find the Reciprocal of the Fraction :

° Watch Video Solution

7
365.Find: 8 — g

o Watch Video Solution

1
366. Find: 3 + 2§

o Watch Video Solution



https://dl.doubtnut.com/l/_ApNUP8fRvZnx
https://dl.doubtnut.com/l/_0NVhTL2a76Fn
https://dl.doubtnut.com/l/_5T1Za7SPNUIS
https://dl.doubtnut.com/l/_QVw4rcvegQoC

367. Aruna and Radha start their journey from
two different places A and E. Aruna chose the
path from A to B then to C, while Radha chose
the path from E to D then to C. Find who

travelled more and by how much?

° Watch Video Solution

368. Solve : 2.3 = 100

° Watch Video Solution



https://dl.doubtnut.com/l/_QVw4rcvegQoC
https://dl.doubtnut.com/l/_tFiKyKWDIL1c

369. Solve : 0.45 = 5

o Watch Video Solution

370.Solve: 7 - 3.5

o Watch Video Solution

371.Solve: 7 x 2.7

o Watch Video Solution



https://dl.doubtnut.com/l/_z77puIUzFIPq
https://dl.doubtnut.com/l/_Jw7QqSy26YHV
https://dl.doubtnut.com/l/_sR01pFXrqooW

372.Solve: 2.71 x 5

o Watch Video Solution

373.Solve: 210.01 x 5

o Watch Video Solution

374.Solve : 53.7 x 10

o Watch Video Solution



https://dl.doubtnut.com/l/_KB5NJkKAzlWC
https://dl.doubtnut.com/l/_Qs8ToO6jhpru
https://dl.doubtnut.com/l/_ZjUwyFM78ZDQ

375.Solve: 131.1 x 100

o Watch Video Solution

376. Solve: 156.1 x 100

o Watch Video Solution

377.Solve: 0.03 x 1000

o Watch Video Solution



https://dl.doubtnut.com/l/_fOcEiIxqV3hx
https://dl.doubtnut.com/l/_lHFuxOl5Y1rd
https://dl.doubtnut.com/l/_KTCDu2xNxAZK

378.Find the area of a rectangle whose length

is 6.2 cm and breadth is 4 cm.

o Watch Video Solution

5 5 1
379. Arrange in Ascending Order: —, —, —
8 6 2

o Watch Video Solution
380. A in A ding Ord 2 13
-Arrange in Ascending Order : —, =, 75

o Watch Video Solution



https://dl.doubtnut.com/l/_ym2ybd3v9dbK
https://dl.doubtnut.com/l/_jrQJMMKsNvO9
https://dl.doubtnut.com/l/_yW3leBQYuacs

381. check whether in this square the sum of
the numbers in each row and in each column

and along the diagonals is the same.

s | B | 2
13 13 13
a s " |
i3 | 13 i3 |
T | 1 L
3|5 | 0

o Watch Video Solution



https://dl.doubtnut.com/l/_yW3leBQYuacs
https://dl.doubtnut.com/l/_pO8MVtXQjJgG

o Watch Video Solution



https://dl.doubtnut.com/l/_odhb1Ca6Agcp

2
383. shade: 3 of the triangles in box.

O A A
AAA

A4 A

(b)

o Watch Video Solution



https://dl.doubtnut.com/l/_Bk1fayNSGULK

. N r ‘ — J— _ —_—
ICh one IS greater 5O or5o 5

o Watch Video Solution

: : 1 _4 2 3
385. Which one is greater? — of — or — of —
2 7 5 7

o Watch Video Solution

386. Which one is greater 0.7 or 0.077

o Watch Video Solution



https://dl.doubtnut.com/l/_vWlPCa6UFuhT
https://dl.doubtnut.com/l/_H5JdiT9vRyxG
https://dl.doubtnut.com/l/_jIuuty0HUyD0

387. Which one is greater? 1.47 or 1.51

o Watch Video Solution

388. (True or false) Every integer is a rational

number and vice versa (.......... )

° Watch Video Solution

389. (True or false) In a rational number of the

form 2, g must be a non zero integer(.......... )
q



https://dl.doubtnut.com/l/_5Pb7nbfsKiFb
https://dl.doubtnut.com/l/_AOL76y0M21XU
https://dl.doubtnut.com/l/_aW2nSDmiIcYJ

o Watch Video Solution

390. (True or false) Every decimal number can

be represented as a rational number.(......... )

o Watch Video Solution

5 6
391. (True or false) —, —, Z aee equivalent
70T

rational numbers.(.......... )

o Watch Video Solution



https://dl.doubtnut.com/l/_aW2nSDmiIcYJ
https://dl.doubtnut.com/l/_7QByvLAQbLi2
https://dl.doubtnut.com/l/_ouvhAFrwHyJV
https://dl.doubtnut.com/l/_DDcX97kgE31e

392. (True or false) Equivalent rational
numbers of a positive rational numbers are all

positive (.......... )

o Watch Video Solution

393. Express 247g in kilogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_DDcX97kgE31e
https://dl.doubtnut.com/l/_d9j5yD4zqX8r

394. Express the given weight in kilograms :

44kg 80 gm

o Watch Video Solution

395. Write any three equivalent rational

numbers to each of the following : 3

o Watch Video Solution



https://dl.doubtnut.com/l/_rAWtXvmWGC9H
https://dl.doubtnut.com/l/_yp1caAiLt8J1

396. Write any three equivalent rational

3
numbers of: — 3

o Watch Video Solution

397. Write the given decimal number in it's

expanded form : 55.5

o Watch Video Solution



https://dl.doubtnut.com/l/_7rWdkmQCxTTx
https://dl.doubtnut.com/l/_gcO8aYU7vdPi

398. Write the following decimal numbers

expanded form :5.55

o Watch Video Solution

399. Solve: 0.1 x 0.1=

o Watch Video Solution

1
400.Solve: 1 + §=

o Watch Video Solution



https://dl.doubtnut.com/l/_TSmqSveJyLqK
https://dl.doubtnut.com/l/_wIrLW6LvycVc
https://dl.doubtnut.com/l/_UqUhF5kxAKRS

401.Solve: 0.2 x 0.3=

o Watch Video Solution

3
402. Solve: 2 —=
02. Solve: 20 + 100

o Watch Video Solution

1
403. Solve the Fraction : 53

o Watch Video Solution



https://dl.doubtnut.com/l/_UqUhF5kxAKRS
https://dl.doubtnut.com/l/_Td0LMfQsmA5V
https://dl.doubtnut.com/l/_DXW6V7e8VkZM
https://dl.doubtnut.com/l/_oj06Dn5asBAi

1
404. Solve : ——
oV 100

o Watch Video Solution

405. Solve: 2.35 x 10=

o Watch Video Solution

442
406. Solve : ———
06. Solve 1000

o Watch Video Solution



https://dl.doubtnut.com/l/_oj06Dn5asBAi
https://dl.doubtnut.com/l/_3qrq5vvnbMVz
https://dl.doubtnut.com/l/_yZRomEdZX4JE
https://dl.doubtnut.com/l/_4tPTDCQFJHrQ

407.Solve: 22.5 +— 1.5=

o Watch Video Solution

2 5
408. Solve the Problem: 3 X -

o Watch Video Solution

409. Solve the Problem: 8.4 -4

o Watch Video Solution



https://dl.doubtnut.com/l/_4tPTDCQFJHrQ
https://dl.doubtnut.com/l/_K7DPdJfdxKrX
https://dl.doubtnut.com/l/_ThxPlghK6daf
https://dl.doubtnut.com/l/_MWxNvNEnX2aZ

410. Solve the Problem: 2.4 =+ 0.2

o Watch Video Solution

411. Solve the Problem: 0.19 + 2.3

o Watch Video Solution

3
412. Solve the Problem : 1 + 3

o Watch Video Solution



https://dl.doubtnut.com/l/_MWxNvNEnX2aZ
https://dl.doubtnut.com/l/_Xtra3JMEBIti
https://dl.doubtnut.com/l/_bQYS2cvlymf1
https://dl.doubtnut.com/l/_kr271a8O7u0G

1

413. Solve the Problem: 3 = 3

o Watch Video Solution

1
414, Solve the Problem : 1 of 8

o Watch Video Solution

2

1
415. Solve the Problem : 5 X -

o Watch Video Solution



https://dl.doubtnut.com/l/_kr271a8O7u0G
https://dl.doubtnut.com/l/_VCBmib3hHMaA
https://dl.doubtnut.com/l/_wzccOGBPQpGw
https://dl.doubtnut.com/l/_pLVAhhmyjUWf

3 3
416. Solve the Problem : 3 + 5

o Watch Video Solution

2
417. Solve the Problem : 10§

o Watch Video Solution

1 1 1

1
418. Solve the Problem: 3 4+ 5 + 5 + 5

o Watch Video Solution



https://dl.doubtnut.com/l/_pLVAhhmyjUWf
https://dl.doubtnut.com/l/_x66LAZazjvUX
https://dl.doubtnut.com/l/_KlbWeJ6e76dJ
https://dl.doubtnut.com/l/_KVSnlPdkQoTm

419. the shaded part in the figure is....

o Watch Video Solution



https://dl.doubtnut.com/l/_KVSnlPdkQoTm
https://dl.doubtnut.com/l/_w4wspZvx3bpP

1

420. Reciprocal of 3 I

o Watch Video Solution

1

1
421. The Val f— — — = ..
eValueof o — o

o Watch Video Solution

422. The Valueof2 —1 -1 = ...

o Watch Video Solution



https://dl.doubtnut.com/l/_NYpDQVCQ336x
https://dl.doubtnut.com/l/_YcNLYi3gkLtm
https://dl.doubtnut.com/l/_Xf4jEMTLssae

423. Value of 7 paise =X .......

o Watch Video Solution

424.Fill in the blanks : 200 cm = ..........

o Watch Video Solution

425.Fill in the blanks : 5 g = ........ kg

o Watch Video Solution



https://dl.doubtnut.com/l/_rTzksquUO2e7
https://dl.doubtnut.com/l/_bKgNrq5AUP0m
https://dl.doubtnut.com/l/_kThrTyAf7n6D

426.The Value of 31.5 - 10 = .......

o Watch Video Solution

1
427.The Value of 9 X 9= ...

o Watch Video Solution

1 1
428. The Value of 1 + 3 + 3 =S

o Watch Video Solution



https://dl.doubtnut.com/l/_tQmsDVRG8HEn
https://dl.doubtnut.com/l/_hXZuiO87L2SI
https://dl.doubtnut.com/l/_J8q2yAY9Tpw7

429. A car covers a distance of 891 km in 2.2

hours. What is the average distance covered

by itin1hr.

A. a.20.2km

B. b. 40km

C.c.32 km

D. d. 40.5km

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_bEPBi9WbdPWA

430.6.4 /2 can be written as.......

A. 0.662
B.6.4 X —
C. 6.4

D.6.42

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_dSURQHHCdpOV

431. Additional bits : =

S| =

A. 01

B.1

C.10

D. 0.01

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_srkfacOy5zW9

e value o 3

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_YkjWGKKqlTOY

1 1
433.The Val f— X = =
e Value o 3><2

o >
|~ N|R o=k W

N

o

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_qFR7XJO64Woa

1
434, The Value of 3 of 10 =

Al
B.2
C.5

D.8

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_u362joU3nQ9K

1
435, solve 3§=

A3

B.1.3

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_UeWpg5kv9fwf

436. The Value of1?7 — 1_54 —

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_sLjkctyYHuqu

1

1
437. solve — —=
7sove4+4

Al

4
Bl
"2
C.8

D. 1

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_2iDPbevwWEi5

2

438. Reciprocal of 3 IS,

A2

N
N = N w

o

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_f1N9EqXo6otn

